Choose the correct homophone to fill in the gaps:to,two,too

1. Charlie won a GOLDEN TICKET trip to the factory.
2. His Grandpa went with him to meet Willy Wonka.
3. “You never can have too much chocolate Charlie,” chuckled Grandpa.
4. The crowds of people were pushing to get a glimpse inside the gate.
5.  There were just too many people to get past.
6. Willy Wonka welcomed them in to an enormous purple room.
7. “Welcome friends!” exclaimed Mr Wonka as the visitors walked in two at a time.
8. The walk to the chocolate room seemed to take forever.
9. “ Come on in,” exclaimed Mr Wonka “ feel free to try anything!”.
10. Charlie and Grandpa plucked two edible flowers from a bush.
11.  “This is just too pretty to eat!” said Charlie.
12. [bookmark: _GoBack]Augustus Gloop fell in to the chocolate river and despite the efforts of two oompa loompas was sucked up the pipe to the Fudge Room.
Now write 5 sentences of your own using a mix of to,too,two.
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